
Zahlenquadrate – A42 Name: Max Musterschüler

9 + 5 + 6 = 20

+ + + +

2 + 3 + 1 = 6

+ + + +

4 + 7 + 8 = 19

‖ ‖ ‖
15 + 15 + 15

8 + 6 + 9 = 23

+ + + +

2 + 4 + 7 = 13

+ + + +

3 + 5 + 1 = 9

‖ ‖ ‖
13 + 15 + 17

2 + 9 + 8 = 19

+ + + +

6 + 3 + 7 = 16

+ + + +

1 + 4 + 5 = 10

‖ ‖ ‖
9 + 16 + 20

5 + 7 + 9 = 21

+ + + +

1 + 6 + 3 = 10

+ + + +

4 + 2 + 8 = 14

‖ ‖ ‖
10 + 15 + 20

8 + 9 + 2 = 19

+ + + +

5 + 3 + 1 = 9

+ + + +

6 + 4 + 7 = 17

‖ ‖ ‖
19 + 16 + 10

7 + 6 + 2 = 15

+ + + +

9 + 4 + 8 = 21

+ + + +

5 + 1 + 3 = 9

‖ ‖ ‖
21 + 11 + 13

Jede Ziffer von 1-9 muss verwendet werden, aber immer nur einmal!
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